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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you

will see four werds or phrases marked (1), (2), (3), and (4). Choose the one word or
hrase that best completes the sentence. Then mark your answer sheet.

After we had eaten lunch, we flew our kites. That was fantastic becanse we the
kites ourselves!

1) made 2} had made 3) were made 4) were making

The students’ final degrees will incdude the work and projects .o during the year.

1) done them 2) which done

3) that they do 4) which they do them

If e had beem .o In the family, things might have been different for him in so
ALY Wiys.

1) only child 2) the only child

3) the only children 4) an only children

Women aged 60-68 running the marathon run on average two minwies ... Year,
1) faster each 2) the fastest 3) fastest of the 4) faster than

We all kmow that when two people cooperate with each other, they . better
ldeas,

1) found 2) give off 3) measure 4) come up with

You can use the device to scan the image and reproduce it on-screen in an electromie
1) event 2) plain 3) format 4) region

If vou want something vou've never had, you must be to do something you've
never done.

1) stable 2) willing 3) valuable 4) probable

In cold regions, houses need to have walls that will ..... the heat from the sun.

1) abgorb 2) forbid 3) grow up 4) gtand for

She was fortunate to have been born into 8 ...ccvcnnaaneas family known for their kindness
and generosity.

1) social 2) fluent 3) cheerful 4) distinguished

According to French philosopher and suthor Albert Camus, “A man Without .....eumeee 13
a wild animal free in this worid”.

1) device 2) habits 3) ethics 4) diversity
A3 a teenager, she spoke her mind ont of fear of being langhed at.
1) rarely 2) calmly
3) normally 4) comprehensibly
She was frightened 10 .rciniiniianns when she saw her small dewghter ran toward the busy
sireet.
1) face 2) blood 3) illness 4) death
Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage

and decide which choice (1), (2), (3), or (4) best fits each space. Then mark yonr
answer sheet.

The human bmain is very mysterious. Many questions gabout the brain have .....c..ii. (88)

For example, why do we need to sleep or why do we dream? .................... (89) lot about
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89-
90-
91-
92-

the brain that we still do not understand. Believe it or not, people used fo think of the brain
as useless stuffing. ................. (20), we now know the brain is our control center. The
surface of the brain is called the cerebral cortex. It is the part of the brain that makes us
intal]igmt, and it consists of four parts called lobes. The front lobe is

(91) of our thinking and feeling happens. The top lobe processes information
which is cnmmg from parts of our bodies, such as our skin and muscles. The side lobe plays

an important ... ~ (92) in haarmg, gpeech and long-term memories while the back
lobe processes images ﬁ'om our eyes.

1) not yet been answered 2) yet not answered

3) yet to be not answered 4) not answered yet

1) They arc a 2) Ther¢is a 3)Itis so 4) There arg 8o

1) Really 2) It’s & pity 3) To be honest 4) Of course

1) the place 2} which 3) that all 4) where mmuch

1) role 2} value 3) tool 4) effect

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is
followed by four gquestions. Answer the questlons by choosing the best choice (1),

(2). (3), or (4). Then mark your answer sheet.

Pagsage 1:

Sometimes humans and animals come into conflict with each other. This can threaten
people’s livelihoods and also threaten the animals® lives, In central Namibia, farmers
have a problem with chestahs. The cheetahs prey on the baby cows (calves). In tum, the
farmers often try to kill the wild cats in order to protect their cattle!

Wouldn't it be great if we could sindy the situstion and find a solution that suits both
the farmers and the cheetahs? This is what we did with our research. We tracked the
cheetah's behavior. We noticed that the cheetahs did not move their area to go after the
calves, We thought that if the farmers kept their groups of cows with calves in certain
areas, and not in others, they could avoid cheetah attacks. The farmers took our advice.
They then compared the number of calves killed by cheetahs before and after these
chenges. So, did our advice work? Yes! The farmers observed a significant reduction in
calves killed by cheetahs. This could prevent farmers from losing their valuable livestock
and stop them from trying to kill the cheetahs.

Looking for solutions based on animal behavior could work for other species too. Can
you think of any human-wildlife conflicts in your area? And do you think they could be
solved without the animalg being harmed or killed?

The word “cattle” in paragraph 1 is closest in meaning to .
1) herd 2) life 3) farm 4) crops

What was the purpese of the study described in paragraph 27

1) Discovering the reason why the farmers killed the cheetahs

2) Finding a way to help prevent both calves and cheetahs from being killed

3) Understanding how te make the cheetahs change the area where they lived

4) Explaining why both firmers and cheetahs could nol understand and respect cach other
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95-

99.

How did the farmers avoid cheetah attacks?

1) They separated calves from cows.

2) They let cheetahs kill and eat a few of the calves.
3) They followed the researchers’ recommendation.

4) They moved their houses to places far from cheetahs.
The function of the last pa.ragrnph of the passage is to

1) make us think about our environment without the need to cunsldar its animals

2) encourage us to find solutions for hnman-wildlife conflicts that do not endanger
animals

3) point out that we cennot understand animals without studying their behavior to other
species

4) suggest that more studies are needed about the role that animal behavior plays in
human socicty

Passage 2:

Dave Farrow is a Canadian who appears in the Guinness Book of World Records for
having the greatest memory. As a student, despite his stmggles with subjects like reading

and writing, Dave found ways to improve his memory in order to do well in gchool. In

2008, he set a world record by memorizing the order of 59 decks of playing cards in two
days, How did his brain siore all of this information? Accerding to Dave, anybody’s
brain can do it, but it helps to understand how memory works.

Your short-term memory can only hold information from 15 seconds to a few
minutes, In addition, short-term memory can only hold about seven things at one time,
Memory champions like Dave have to hold Tong lists of information in their short-term
memory 2t one time. To do this, they rely on different tricks,

One trick is to look at the first letter of every word you want to memorize, Then,
create your own word, phrase or sentence using all of those letters. This is called an
acronym. For example, if you want to remember all the colors in a rainbow, fry
remembering the name Roy G, Biv. Each letter in this fictional name matches the first
letter of a color,

Acconding to paragraph 1, Dave Farrow "
1) came up with the idea nf writing the Guinness Bouk of World Records
2) set a world record for the greatest memory when he was a student

3) had difficulty with reading and writing at school

4) believes that he has a unique brain

The short-ferm memory can
1) only hold data for up to 15 seconds

2) store huge amounts of information at one time

3) hold a limited number of things for a limited length of time

4) only transfer seven things to the long-term memory at one time

Based on the acromym given in parngraph 3, which of the following words is NOT among
the colors of a rainbow?

1) Purple 2) Yellow 3) Violet 4) Orange

100- The paragraph following the last paragraph of this passage wonld most probably be about

1) the story of the fictional character Roy G, Biv

2) the study skills that helped Diave Farrow train his memory

3) reasons why the short-termm memory easily throws information away

4) another trick to hold many things i the short term memory at the same time



